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TRANSFORMATIONS OF TRIG EUNCTIONS

y = Aesin(B(0—D))+V -

V = vertical shift up or down (up or down)

A = amplitude vertical stretch or shrink

B = horizontal stretch or shrink
D = displacement phase shift (right or left)
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Don’t anic, wc(eﬁa)re starting with vertical changes only! We will get to the horizontal changes later....
snbl+3

4 9
1) y=sin(9)+2 Amplitude Period 3"0 Critic$VaIues qa
(use degrees!) ‘F
— Vertical Shift up 9\ Max 3 Min |
- - — - ——(widing ool
- ¥ — - Johtrame i —amg
—t \ \ a+| a-~|
I WO & a0 3
o 4
2) y=33in(49) Amplitude 3 Period 3‘00 Critical Values q“

(use degrees!)

(widling)

Vertical Shift O Max3 Min ’3

o+3 0-3




B T

3) y=co0s(x)—3 Amplitude l Period J"r Critical Values ’]g

(use radians!)

| Vertical hiftiowf\g Max-g‘ Min""
- (milve) =37 30y 3

N |

1 g w
4) VZECOS(X) Amplitude A Period Qﬁr Critical Values_ X
(use radians!)
( _\
Vert.iﬁalsgift O Max_ A Min__ 2
(VV\\ Wne 0-‘& 0‘2"’
. 1 fis
5) y=2sin(x)+1 Amplitude period_ A1 Critical Values__2—
(use radians!)
3T = - = = Vertical Shift L P \ Max 3 Min _[
] - (widag) ' |42 -
{ | | |
T E T &%‘é ar__
1 .\/‘ 0 &l
6) y:ZCOS(Q)_l Amplitude ay Period %(/0 Critical Values qD
(use degrees!) (,jﬁ)
-3 S

-

VerticaIShiftdm"/Y\\ Max? Min ¢

g _\—- —/'.L
I -k

10 300

/|
)
)
y
|
'1
i



